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1  Look and write

wolf     jackal     squirrel      deer

What are these animals?

It’s a squirrel.1.

It’s a deer.2.

It’s a wolf.3.

It’s a jackal.4.

 

2  Read and circle Yes or No

A deer is smaller than a squirrel.   Yes/No1.

Squirrels are smaller than jackals.   Yes/No2.

Squirrels are bigger than wolves.   Yes/No3.

A deer is faster than a squirrel.   Yes/No4.

A wolf is more dangerous than a squirrel.   Yes/No5.

A deer is bigger than a jackal.   Yes/No6.

 

3  Complete

(big)    A bus is bigger than a car.1.

(small)    An olive is smaller than an apple.2.

(tall)    A tree is taller than a flower.3.

(dangerous)    A leopard is more dangerous than a lamb.4.

 

4  Read, look and complete

The cat is bigger than the frog. It’s smaller than the lion.

The elephant is (I) bigger than the giraffe.
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It’s bigger than the lion, the cat and the frog!

The giraffe is (2) bigger than the lion,

but it’s (3) smaller than the elephant.

The lion is (4) smaller than the giraffe,

but it’s (5) bigger than the cat.

The frog is (6) smaller than the cat.

It’s smaller than the lion, the giraffe and the elephant.

6  Read, complete and say

big     frightened     fast      pretty      small

A little deer lives in the forest. It is (I) smaller than the other deer.
The other deer are (2) bigger than the little deer. It can run fast,

but the other deer can run (3) faster than it can.

People walk in the forest in the spring. In the spring, the flowers
are (4) prettier than in autumn. The little deer is frightened of

people. It is (5) more frightened of people than the other deer.
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8  Look, and complete

tall     small     old     young

Jaber is taller than Rakan.1.

Rakan is smaller than Jaber.2.

Jaber is older than Rakan.3.

Rakan is younger than Jaber.4.


